Practice exercise Answers, Lesson 14

1. TLWW\W T !
o O [FAZCS

This is right. The translation is: "Being healthy, it's good."
o X BALLBE,OI

This one is wrong. Before T, only imperfective nominals can occur. T is a nominal gerund.
o X EEX»TV

This one is wrong. &Z X* 9 |\ is an adjectival, therefore, it cannot occur before T.
o _O_TX

This is right. The translation is: "Being peppy, it is good."

2. 2HLD
o O LT

This is right. The translation is: "Decide on cold ones." Remember that a sentence which

ends in a gerund form is a request in casual style.
o O_A%B\L0D

This is right. The translation is: "It is that there are no cold ones."
o O_AELABZVK

This is right. The translation is: "It may be (a) cold one(s)."

3. R&KL
o X NXAYTT

This one is wrong. It should be: "X& K T, XAV TT, "
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5.

(0]
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(0]

(0]

(0]

(0]

(0]

(0]

(0]

0

_O_2<BHBLT

This is right. The translation is: "Will you re-make it larger?" (request)
X ZBEYERLIERZ,

This one is wrong. = should be deleted.

NPELNIhEIEBA
_O_ TR »iL

This is right. The translation is: "S/he may not be peppy."

X FAZSERLSBZEWVTT

This one is wrong. Only direct style occurs before #* € L 117z ).
_O_E560hKLV

This is right. The translation is: "I may not see him/her any more."
_O_FEEYD

This is right. The translation is: "It may still be no good."

DTHR2TVWERT
X_BEEHIAL

This one is wrong. It should be: "B ZARZEBANE=BZ O T".

_O_a#AEeEH L

This is right. The translation is: "I'm in trouble because the company is far."
_O_EDRITENRHMKIZED 12

This is right. The translation is: "I'm in trouble because all the banks were closed."
O_Bo<HWIHadW»

This is right. The translation is: "I'm in trouble because my mother's condition is not good."
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6. XL
o _O_FEARKRTLAEL

This is right. The translation is: "The newspaper has not arrived yet."
o _O_MBAOASBATITALL
This is right. The translation is: "Work at (the) Research Institute is still difficult."
o O BMREATTITH
This is right. The translation is: "Are you still going to drink?"
o _O_10BEFERHRERESETLL
This is right. The translation is: "It is still October, but it is already cold in the morning."
o O_BEATLAEV
This is right. The translation is: "l still haven't memorized it."
o O_BEFATWS

This is right. The translation is: "l still remember it."
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